
T2522 JBL Speaker Bracket Nova Go & 2  
Assembly Instructions 
 
Hardware Pack Contents: 
 

§ (2) ¼-20 x ½” long socket head cap screw 
§ (1) 3/16 hex key 
§ (1) 10-32 x 1" button head security screw  
§ (1) 10-32 x 5/8" button head security screw  
§ (1) 5-32 security hex key 
§ (2) ¼-20 T-nut 

 
Floating Power Box Hardware Pack Contents: 
 

§ (2) ¼-20 Z-nut 
§ (2) 1/4-20 x 1/2" button head socket cap 

screw 
 
Instructions: 
 

1. Remove channel cover from main pole of Nova 2 or Nova Go. 
2. Open the power box by removing the 2 screws at the back of the power box using allen key.  

NOTE:  be careful to hold on to the power box cover so it does not drop while you remove the 
screws.  Slide the power box cover off. 

3. Plug the iPad power charger into the grey extension cord.  Plug the JBL charging cable into the 
Apple charger and feed it out the top of the power box.  Install the cover back onto the power 
box. 

4. Run the JBL charging cable up the channel and while holding onto the JBL cable and lightning 
cable going up to the top of the pole, and with 2 cables coming out of the side slot in the left 
bracket, mount the left bracket with hook end facing down into Nova pole using the 2 ¼-20 x 
½” long socket head cap screws and 2 T-nuts and tighten with supplied 3/16 allen key. 

5. Place JBL speaker onto left bracket hook and slide right bracket hook over top of the other end 
of the speaker and slide right bracket into left bracket against Nova pole until 2 side screw 
holes align.   

6. Insert the 10-32 x 1” button head security screw into the top screw hole of the right bracket and 
tighten using 5-32 security hex key. 

7. Insert the 10-32 x 5/8” button head security screw into the bottom screw hole of the right 
bracket and tighten using 5-32 security hex key. 

8. Plug the cables into the JBL speaker slots for charging. 
9. Reinstall channel cover.  Note you will need to use sharp scissors to cut it shorter to allow for 

the JBL bracket. 
 
 
Installing Floating Power Box: 
 

1. If you have purchased a Work Surface Tray and JBL Bracket you will need to install the power 
box lower down on the main pole. 

2. Remove the power box cover first. 
3. Remove the power box base and re-install using the supplied Z nuts and screws. 

Left Bracket 
(Top & Bottom View) 
 

Right Bracket 
(Top & Bottom View) 

 

.028 CHAMFER ON INSIDE
EDGE, TOP AND BOTTOM

 R.087 

 R.250 TYP. 

 0 
 .211 
 .421 

 1.268 

 0
 

 .2
97

 

 3
.3

97
 

 6
.1

52
 

 0 

 0
 

A
R.125

RUN CHAMFER
OUT AS SHOWN
BOTH SIDES

.450 TO CLEARANCE FIT
WITH BRACKET LEFT

 .130 
 0 

 .775 

 1.100 

 0
 

 3
.7

47
 

 3
.1

00
 

 2
.5

76
 

 2
.6

50
 

 .325 

 2
.3

20
 

 2
.0

25
 

DRILL & TAP 10-32

DRILL .196 & C'BORE
.375 X .09 DEEP 1 SIDE ONLY

JBL SPEAKER BRACKET RIGHT

2/15/17

 R.010 DETAIL A
SCALE 4 : 1

6061 AL.

TUMBLED FINISH

B

4

A

123

B B

A

2 134

DO NOT SCALE DRAWING SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 WEIGHT: 

REVDWG.  NO.

B
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

APPLICATION

USED ONNEXT ASSY

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TRYTEN TECHNOLOGIES INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
TRYTEN TECHNOLOGIES INC. IS 
PROHIBITED.

 .216 
#10-32 MIN.
.50 THREAD

DEPTH .028 CHAMFER ON INSIDE
EDGE, TOP AND BOTTOM

 0
 

 .3
50

 

 3
.4

50
 

 2
.3

00
 

 1
.6

50
 

 0 
 .211 
 .225 

 0
 

 0 

B

R.125

RUN CHAMFER
OUT AS SHOWN
BOTH SIDES

MATCH
CHAMFER

.450 TO CLEARANCE
FIT WITH BRACKET RIGHT

 .125  .325 

 .200 

 0 
 .325 
 .550 
 .670 
 .775 

 1.100 

 0
 

 .6
50

 

 3
.7

50
 

 .9
00

 

 3
.1

13
 

 0
 

 1
.1

00
 

 1
.1

74
 

 1
.4

27
 

 1
.5

02
 

CL. & C'BORE
FOR 1/4-NC SHCS
2X

JBL SPEAKER BRACKET LEFT

2/15/17

 R.010 

DETAIL B
SCALE 4 : 1

6061 AL.

TUMBLED FINISH

B

4

A

123

B B

A

2 134

DO NOT SCALE DRAWING SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:1 WEIGHT: 

REVDWG.  NO.

B
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

APPLICATION

USED ONNEXT ASSY

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TRYTEN TECHNOLOGIES INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
TRYTEN TECHNOLOGIES INC. IS 
PROHIBITED.


